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BACHELOR OF SCIENCE (B. SC.)
Term-End Examination

June, 2024

LSE-12 : PLANT DIVERSITY—I

Time : 3 Hours Maximum Marks : 75

Note : Question No. 1 is compulsory. Attempt any
five questions from question nos. 2 to 8.
Draw well-labelled diagrams wherever

necessary.

1. (a) Fillin the blanks : 5

(1) Regeneration of whole plant from a
single cell is known as ............... .

(i1) The two ‘hot spots’ of biodiversity in
India are ............... and ............... .

(i11) The algae ............... lives inside
Paramecium.

P.T.O.
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(iv) The fungi where the entire plant body

takes part in reproduction is called

(v) In Marchantia sex organs are borne on

stalked structures called ................ .
State whether the following statements are
‘True’ or ‘False’ : 5
(1) Equisetum is heterosporous.

(1) In bryophytes, the dominant phase of
life cycle 1s sporophyte.

(i11) The sperms are biflagellate in Fucus.
(1v) Yeast cell is prokaryote.
(v) All viruses are parasites.

Match the items of Column A with those of

Column B : 5
Column A Column B
(a) Ulothrix (1) Peat moss
(b) Equisetum (1) Soredia

(¢c) Sphagnum (i11) Zygospore

(d) Lichen (iv) Girdle shaped
chloroplast

(e) Rhizopus (v) Horsetails
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2. Draw well labelled diagrams of any three of the
following : 3x4=12

(1) T.S. Sporocarp of Marsilea.
(1) Ultrastructure of a prokaryotic cell.
(111) T. S. male conceptacle of Fucns.

@iv) V. S. of Thallus of Marchantia through

Gemma cup.

3. (a) What heterocyst ? Describe its structure

and functions. 6

(b) Describe the various adaptations of

bryophytes for and habit. 6

4. (a) Describe the chief characteristics of

plasmodia slime molds. 6

(b) Explain the various types of steles in

vascular plants with diagrams. 6

5. (a) Describe the common methods of

vegetative reproduction in Fungi. 6

(b) Explain the role of lichens as pioneers of

vegetation. 6

P.T.O.
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Discuss the role of bryophytes as indicators of

mineral deposit. 12

Define Telome theory. Explain five elementary

processes which helped in the evolution. 12

Name the causal organism of Red rot of
sugarcane. Write its symptoms, disease cycle

and control measures. 12
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(b) TaEIEleT (i) gfe
© THH (i) ST
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(T. S.)

(iv) S| %9 ¥ Bl WA B ITH Hi
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